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1 1 279
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3 1 14
4 1 107
5 1 17
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1 52 900 1,289
2 20 1,721 2,784
3 27 468 740
4 23 152 330
S 21 212 731
6 24 195 363
7 24 130 121]
8 |[ZUMBA 24 165 388
9 24 122 221
10 25 55 121
11 24 240 419
288 4,36( 7,501

No H31
1 [0} 0] 3,517%
2 [0} o) 401]
3 [0} O 12,74
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5 o 0] 543
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7 o O 670
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9 o O 442
10 [0} o) 365
0} o) 19,779

No H31
1 34 279 1,337
2 26 4849 793
3 51 989 1,657
111 1,747 3,787

14



tg ™ wz fi s K' m(STEPLE oV
-8 P < #94 Ve
4L S eVe® Jam2d¥ 30O v 7
o i o3 =V 9 =

- tdo™Mears o™ g = | |5 -
4 A ™s %8 0 L 5 L ‘ 4
Nef 5 =V °

FV e Wl 9%
£ %Nef s ' fiw' fi—

-8 eg Vo
| L Ne @

L o «FH2E %

|8 " Hd 40 % —

10 ®@WD 4 L =8 >Ly | — — J AL <
Ve ewdas |1 d,y | s fiyi L% { Fz %N # 8 |
-8 J % =[= 1t =%V  oof Vvi<lNgde 1 Ys |-

# - e eV

(. TPemi ® —V ks d % o™ L 4 e
<sl-s - &L AV ks Lz 44 L 93 Vo

Llogks ;0 2 —Nf & f=m] 2Lyvi— < —pP'fi el
18 @7 % Al <%E % < =8 L o= ™My%Y ™M g3 A0
| AR=YTLIX(RF99742) RR=YTHR (FIMKE)

|
Ri%e
. |

Eoile
18
B

b S|kt
e 4

15
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1 7 134 158
2 3 24 36
3 STEP 3 39 40
4 12 345 474
5 2 144 283
6 16 101§ 54
7 38 323 2,059
8 2 STEP 6 66 -
9 3 23 -
10 1 11 -
8 124
11 54
8 24
3 39
12 65 7
3 6
13 4 71 -
14 5 341 -
15 4 59 -
16 4 43 -
17 65 2 19 -
18 4 24 -
19 4 27 -
20 [ZUMBA 4 33 -
21 4 35 -
22 4 10 -
23 4 34 -
24 51 953 -
25 4 28 -
26 4 24 -
204 3,074 3,10(
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